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Chapter 20:  Multilevel linear models 

Smart Alex’s Solutions 

Task 1 

Using	
  the	
  cosmetic	
  surgery	
  example,	
  run	
  the	
  analysis	
  described	
  in	
  Section	
  20.6.5	
  but	
  also	
  
including	
  BDI,	
  age	
  and	
  gender	
  as	
  fixed	
  effect	
  predictors.	
  What	
  differences	
  does	
  including	
  
these	
  predictors	
  make?	
  

	
  

Select	
  	
   	
  (Figure	
  1),	
  and	
  specify	
  the	
  contextual	
  variable	
  
by	
  selecting	
  Clinic	
  from	
  the	
  list	
  of	
  variables	
  and	
  dragging	
  it	
  to	
  the	
  box	
  labelled	
  Subjects	
  (or	
  click	
  
on	
   ).	
  	
  

	
  

Figure	
  1	
  

Click	
  on	
   	
  to	
  move	
  to	
  the	
  main	
  dialog	
  box	
  (Figure	
  2).	
  First	
  we	
  must	
  specify	
  our	
  
outcome	
  variable,	
  which	
  is	
  quality	
  of	
  life	
  (QoL)	
  after	
  surgery,	
  so	
  select	
  Post_QoL	
  and	
  drag	
  it	
  to	
  
the	
  space	
  labelled	
  Dependent	
  Variable	
  (or	
  click	
  on	
   ).	
  Next	
  we	
  need	
  to	
  specify	
  our	
  predictors.	
  
Therefore,	
  select	
  Surgery,	
  Base_QoL,	
  Age,	
  Gender,	
  Reason	
  and	
  BDI	
  (hold	
  down	
  Ctrl	
  and	
  you	
  
can	
  select	
  all	
  of	
  them	
  simultaneously)	
  and	
  drag	
  them	
  to	
  the	
  space	
  labelled	
  Covariate(s)	
  (or	
  
click	
  on	
   )	
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Figure	
  2	
  

We	
  need	
  to	
  add	
  the	
  predictors	
  as	
  fixed	
  effect	
  to	
  our	
  model,	
  so	
  click	
  on	
   ,	
  hold	
  down	
  
Ctrl	
  and	
  select	
  Base_QoL,	
  Surgery,	
  Age,	
  Gender,	
  Reason	
  and	
  BDI	
  in	
  the	
  list	
  labelled	
  Factors	
  
and	
  Covariates.	
  Then	
  make	
  sure	
  that	
   	
  is	
  set	
  to	
   	
  and	
  click	
  on	
   	
  to	
  
transfer	
  these	
  predictors	
  to	
  the	
  Model.	
  To	
  specify	
  the	
  interaction	
  term,	
  first	
  click	
  on	
   	
  
and	
  change	
  it	
  to	
   	
  (Figure	
  3).	
  Next,	
  select	
  Surgery	
  from	
  the	
  Factors	
  and	
  Covariates	
  and	
  
then	
  while	
  holding	
  down	
  the	
  Ctrl	
  key	
  select	
  Reason.	
  With	
  both	
  variables	
  selected	
  click	
  on	
  

	
  to	
  transfer	
  them	
  to	
  the	
  Model	
  as	
  an	
  interaction	
  effect.	
  Click	
  on	
   	
  to	
  return	
  to	
  the	
  
main	
  dialog	
  box.	
  

	
  

Figure	
  3	
  

We	
  now	
  need	
  to	
  ask	
  for	
  a	
  random	
  intercept,	
  and	
  random	
  slopes	
  for	
  the	
  effect	
  of	
  Surgery.	
  
Click	
  on	
   	
  in	
  the	
  main	
  dialog	
  box.	
  Select	
  Clinic	
  and	
  drag	
  it	
  to	
  the	
  area	
  labelled	
  
Combinations	
  (or	
  click	
  on	
   ).	
  We	
  want	
  to	
  specify	
  that	
  the	
  intercept	
  is	
  random,	
  and	
  we	
  do	
  this	
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by	
  selecting	
   .	
  Next,	
  select	
  Surgery	
  from	
  the	
  list	
  of	
  Factors	
  and	
  covariates	
  and	
  add	
  it	
  
to	
  the	
  model	
  by	
  clicking	
  on	
   .	
  The	
  other	
  change	
  that	
  we	
  need	
  to	
  make	
  is	
  that	
  we	
  need	
  to	
  
estimate	
  the	
  covariance	
  between	
  the	
  random	
  slope	
  and	
  random	
  intercept.	
  This	
  estimation	
  is	
  
achieved	
  by	
  clicking	
  on	
   	
  to	
  access	
  the	
  drop-­‐down	
  list,	
  and	
  selecting	
   	
  
(Figure	
  	
  4).	
  

	
  

Figure	
  4	
  

Click	
  on	
   	
  and	
  select	
   .	
  Click	
  on	
   	
  to	
  return	
  to	
  the	
  main	
  dialog	
  
box.	
  In	
  the	
  main	
  dialog	
  box	
  click	
  on	
   	
  and	
  request	
  Parameter	
  estimates	
  and	
  Tests	
  for	
  
covariance	
  parameter.	
  Click	
  on	
   	
  to	
  return	
  to	
  the	
  main	
  dialog	
  box.	
  To	
  run	
  the	
  analysis,	
  
click	
  on	
   .	
  The	
  output	
  is	
  as	
  follows:	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

	
  

Output	
  1	
  



DISCOVERING	
  STATISTICS	
  USING	
  SPSS	
  

PROFESSOR	
  ANDY	
  P	
  FIELD	
   	
   4	
  

	
  

	
  

Output	
  2	
  

	
  

	
  

Output	
  3	
  

	
  

Output	
  4	
  

	
  

Output	
  5	
  

In	
  terms	
  of	
  the	
  overall	
  fit	
  of	
  this	
  new	
  model,	
  we	
  can	
  use	
  the	
  log-­‐likelihood	
  statistics:	
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𝜒Change!     = 1789.05 − 1725.39 = 63.66  

𝑑𝑓Change = 12 − 9 = 3	
  

The	
  critical	
  value	
  for	
  the	
  chi-­‐square	
  statistic	
  (see	
  the	
  Appendix)	
  is	
  7.81	
  (p	
  <	
  .05,	
  df	
  =	
  3);	
  
therefore,	
  this	
  change	
  is	
  significant.	
  Including	
  these	
  three	
  predictors	
  has	
  improved	
  the	
  fit	
  of	
  
the	
  model.	
  Age,	
  F(1,	
  150.83)	
  =	
  37.32,	
  p	
  <	
  .001,	
  and	
  BDI,	
  F(1,	
  260.83)	
  =	
  16.74,	
  p	
  <	
  .001,	
  
significantly	
  predicted	
  quality	
  of	
  life	
  after	
  surgery	
  but	
  Gender	
  did	
  not,	
  F(1,	
  264.48)	
  =	
  0.90,	
  p	
  =	
  
.34.	
  The	
  main	
  difference	
  that	
  including	
  these	
  factors	
  has	
  made	
  is	
  that	
  the	
  main	
  effect	
  of	
  
Reason	
  has	
  become	
  non-­‐significant,	
  and	
  the	
  Reason	
  ×	
  Surgery	
  interaction	
  has	
  become	
  more	
  
significant	
  (its	
  b	
  has	
  changed	
  from	
  4.22,	
  p	
  =	
  .013,	
  to	
  5.02,	
  p	
  =	
  .001).	
  

We	
  could	
  break	
  down	
  this	
  interaction	
  as	
  we	
  did	
  in	
  the	
  chapter	
  by	
  splitting	
  the	
  file	
  and	
  
running	
  a	
  simpler	
  analysis	
  (without	
  the	
  interaction	
  and	
  the	
  main	
  effect	
  of	
  Reason,	
  but	
  
including	
  Base_QoL,	
  Surgery,	
  BDI,	
  Age,	
  and	
  Gender).	
  If	
  you	
  do	
  these	
  analyses	
  you	
  will	
  get	
  the	
  
parameter	
  tables	
  shown	
  in	
  Output	
  6.	
  These	
  tables	
  show	
  a	
  similar	
  pattern	
  to	
  the	
  example	
  in	
  the	
  
book.	
  For	
  those	
  operated	
  on	
  only	
  to	
  change	
  their	
  appearance,	
  surgery	
  significantly	
  predicted	
  
quality	
  of	
  life	
  after	
  surgery,	
  b	
  =	
  –3.16,	
  t(5.25)	
  =	
  –2.63,	
  p	
  =	
  .04.	
  Unlike	
  when	
  age,	
  gender	
  and	
  BDI	
  
were	
  not	
  included,	
  this	
  effect	
  is	
  now	
  significant.	
  The	
  negative	
  gradient	
  shows	
  that	
  in	
  these	
  
people	
  quality	
  of	
  life	
  was	
  lower	
  after	
  surgery	
  compared	
  to	
  the	
  control	
  group.	
  However,	
  for	
  
those	
  who	
  had	
  surgery	
  to	
  solve	
  a	
  physical	
  problem,	
  surgery	
  did	
  not	
  significantly	
  predict	
  quality	
  
of	
  life,	
  b	
  =	
  0.67,	
  t(10.59)	
  =	
  0.58,	
  p	
  =	
  .57.	
  In	
  essence,	
  the	
  inclusion	
  of	
  age,	
  gender	
  and	
  BDI	
  has	
  
made	
  very	
  little	
  difference	
  in	
  this	
  latter	
  group.	
  However,	
  the	
  slope	
  was	
  positive,	
  indicating	
  that	
  
people	
  who	
  had	
  surgery	
  scored	
  higher	
  on	
  quality	
  of	
  life	
  than	
  those	
  on	
  the	
  waiting	
  list	
  (although	
  
not	
  significantly	
  so!).	
  The	
  interaction	
  effect,	
  therefore,	
  as	
  in	
  the	
  chapter,	
  reflects	
  the	
  difference	
  
in	
  slopes	
  for	
  surgery	
  as	
  a	
  predictor	
  of	
  quality	
  of	
  life	
  in	
  those	
  who	
  had	
  surgery	
  for	
  physical	
  
problems	
  (slight	
  positive	
  slope)	
  and	
  those	
  who	
  had	
  surgery	
  purely	
  for	
  vanity	
  (a	
  negative	
  slope).	
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Output	
  6	
  

Task 2 

Using	
  our	
  growth	
  model	
  example	
  in	
  this	
  chapter,	
  analyse	
  the	
  data	
  but	
  include	
  Gender	
  as	
  
an	
  additional	
  covariate.	
  Does	
  this	
  change	
  your	
  conclusions?	
  

	
  

First,	
  select	
   	
  and	
  in	
  the	
  initial	
  dialog	
  box	
  (Figure	
  5)	
  set	
  
up	
  the	
  level	
  2	
  variable.	
  In	
  this	
  example,	
  life	
  satisfaction	
  at	
  multiple	
  time	
  points	
  is	
  nested	
  within	
  
people.	
  Therefore,	
  the	
  level	
  2	
  variable	
  is	
  the	
  person	
  and	
  this	
  variable	
  is	
  represented	
  by	
  the	
  
variable	
  labelled	
  Person.	
  Select	
  this	
  variable	
  and	
  drag	
  it	
  to	
  the	
  box	
  labelled	
  Subjects	
  (or	
  click	
  on	
  

).	
  Click	
  on	
   	
  to	
  access	
  the	
  main	
  dialog	
  box.	
  

Surgery to Change Appearance

Surgery for a Physical Problem
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Figure	
  5	
  

In	
  the	
  main	
  dialog	
  box	
  (Figure	
  6)	
  we	
  need	
  to	
  set	
  up	
  our	
  predictors	
  and	
  outcome.	
  The	
  
outcome	
  was	
  life	
  satisfaction,	
  so	
  select	
  Life_Satisfaction	
  and	
  drag	
  it	
  to	
  the	
  box	
  labelled	
  
Dependent	
  Variable	
  (or	
  click	
  on	
   ).	
  Our	
  predictor,	
  or	
  growth	
  variable,	
  is	
  Time,	
  so	
  select	
  this	
  
variable	
  and	
  drag	
  it	
  to	
  the	
  box	
  labelled	
  Covariate(s),	
  or	
  click	
  on	
   .	
  We	
  also	
  want	
  to	
  include	
  
Gender,	
  so	
  select	
  this	
  variable	
  and	
  drag	
  it	
  to	
  the	
  box	
  labelled	
  Covariate(s),	
  or	
  click	
  on	
   .	
  

	
  

Figure	
  6	
  

Click	
  on	
   	
  to	
  bring	
  up	
  the	
  fixed	
  effects	
  dialog	
  box	
  (Figure	
  7).	
  First	
  we	
  need	
  to	
  include	
  
Gender	
  in	
  the	
  model,	
  so	
  select	
  this	
  variable	
  and	
  click	
  on	
   	
  to	
  add	
  it	
  into	
  the	
  model.	
  To	
  
specify	
  the	
  linear	
  polynomial,	
  click	
  on	
  Time	
  and	
  then	
  click	
  on	
   	
  to	
  add	
  it	
  into	
  the	
  model.	
  
To	
  add	
  the	
  higher-­‐order	
  polynomials	
  we	
  need	
  to	
  select	
   .	
  Select	
  Time	
  in	
  the	
  
Factors	
  and	
  Covariates	
  list	
  and	
   	
  will	
  become	
  active;	
  click	
  on	
  this	
  button	
  and	
  Time	
  will	
  appear	
  
in	
  the	
  space	
  labelled	
  Build	
  Term.	
  For	
  the	
  quadratic	
  or	
  second-­‐order	
  polynomial	
  we	
  need	
  to	
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define	
  Time2,	
  and	
  we	
  can	
  specify	
  this	
  by	
  clicking	
  on	
   	
  to	
  add	
  a	
  multiplication	
  symbol	
  to	
  our	
  
term,	
  then	
  selecting	
  Time	
  again	
  and	
  clicking	
  on	
   .	
  The	
  Build	
  Term	
  bar	
  should	
  now	
  read	
  
Time*Time	
  (or,	
  put	
  another	
  way,	
  Time2).	
  Click	
  on	
   	
  to	
  put	
  it	
  into	
  the	
  model.	
  Finally,	
  let’s	
  
add	
  the	
  cubic	
  trend.	
  For	
  the	
  cubic	
  or	
  third-­‐order	
  polynomial	
  we	
  need	
  to	
  define	
  Time3	
  (or	
  
Time*Time*Time).	
  We	
  build	
  this	
  term	
  up	
  in	
  the	
  same	
  way	
  as	
  for	
  the	
  quadratic	
  polynomial:	
  
select	
  Time,	
  click	
  on	
   ,	
  click	
  on	
   ,	
  select	
  Time	
  again,	
  click	
  on	
   ,	
  click	
  on	
   	
  again,	
  
select	
  Time	
  for	
  a	
  third	
  time,	
  click	
  on	
   ,	
  click	
  on	
   .	
  This	
  should	
  add	
  the	
  third-­‐order	
  
polynomial	
  to	
  the	
  model.	
  Click	
  on	
   	
  to	
  return	
  to	
  the	
  main	
  dialog	
  box.	
  

	
  

Figure	
  7	
  

As	
  in	
  the	
  chapter,	
  we	
  expect	
  the	
  relationship	
  between	
  time	
  and	
  life	
  satisfaction	
  to	
  have	
  
both	
  a	
  random	
  intercept	
  and	
  a	
  random	
  slope.	
  We	
  need	
  to	
  define	
  these	
  parameters	
  now	
  by	
  
clicking	
  on	
   	
  in	
  the	
  main	
  dialog	
  box.	
  We	
  specify	
  our	
  contextual	
  variable	
  by	
  selecting	
  
Person	
  and	
  dragging	
  it	
  to	
  the	
  area	
  labelled	
  Combinations	
  (or	
  click	
  on	
   ).	
  To	
  specify	
  that	
  the	
  
intercept	
  is	
  random	
  select	
   ,	
  and	
  to	
  specify	
  random	
  slopes	
  for	
  the	
  effect	
  of	
  Time,	
  
click	
  on	
  this	
  variable	
  in	
  the	
  Factors	
  and	
  Covariates	
  list	
  and	
  then	
  click	
  on	
   	
  to	
  include	
  it	
  in	
  
the	
  Model.	
  Finally,	
  we	
  need	
  to	
  specify	
  the	
  covariance	
  structure.	
  As	
  in	
  the	
  chapter,	
  choose	
  an	
  
autoregressive	
  covariance	
  structure,	
  AR(1),	
  and	
  let’s	
  also	
  assume	
  that	
  variances	
  will	
  be	
  
heterogeneous.	
  Therefore,	
  select	
   	
  from	
  the	
  drop-­‐down	
  list.	
  Click	
  on	
   	
  to	
  
return	
  to	
  the	
  main	
  dialog	
  box.	
  

Click	
  on	
   	
  and	
  select	
   	
  and	
  then	
  click	
  on	
   	
  and	
  select	
  
Parameter	
  estimates	
  and	
  Tests	
  for	
  covariance	
  parameters.	
  Click	
  on	
   	
  to	
  return	
  to	
  the	
  
main	
  dialog	
  box.	
  To	
  run	
  the	
  analysis,	
  click	
  on	
   .	
  

The	
  output	
  is	
  the	
  same	
  as	
  the	
  last	
  output	
  in	
  the	
  chapter,	
  except	
  that	
  it	
  now	
  includes	
  the	
  
effect	
  of	
  Gender.	
  To	
  see	
  whether	
  Gender	
  has	
  improved	
  the	
  model	
  we	
  again	
  compare	
  the	
  value	
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of	
  –2LL	
  for	
  this	
  new	
  model	
  to	
  the	
  value	
  in	
  the	
  previous	
  model.	
  We	
  have	
  added	
  only	
  one	
  term	
  
to	
  the	
  model,	
  so	
  the	
  new	
  degrees	
  of	
  freedom	
  will	
  have	
  risen	
  by	
  1,	
  from	
  8	
  to	
  9	
  (again	
  you	
  can	
  
find	
  the	
  value	
  of	
  9	
  in	
  the	
  row	
  labelled	
  Total	
  in	
  the	
  column	
  labelled	
  Number	
  of	
  Parameters,	
  in	
  
the	
  table	
  called	
  Model	
  Dimension).	
  We	
  can	
  compute	
  the	
  change	
  in	
  –2LL	
  as	
  a	
  result	
  of	
  Gender	
  
by	
  subtracting	
  the	
  –2LL	
  for	
  this	
  model	
  from	
  the	
  –2LL	
  for	
  the	
  last	
  model	
  in	
  the	
  chapter:	
  

𝜒Change! = 1798.86 − 1798.74 = 0.12  

𝑑𝑓Change = 9 − 8 = 1	
  

The	
  critical	
  values	
  for	
  the	
  chi-­‐square	
  statistic	
  for	
  df	
  =	
  1	
  in	
  the	
  Appendix	
  are	
  3.84	
  (p	
  <	
  .05)	
  and	
  
6.63	
  (p	
  <	
  .01);	
  therefore,	
  this	
  change	
  is	
  not	
  significant	
  because	
  0.12	
  is	
  less	
  than	
  the	
  critical	
  
value	
  of	
  3.84.	
  

The	
  table	
  of	
  fixed	
  effects	
  and	
  the	
  parameter	
  estimates	
  (Outputs	
  10	
  and	
  11)	
  tell	
  us	
  that	
  the	
  
linear,	
  F(1,	
  221.41)	
  =	
  10.01,	
  p	
  <	
  .01,	
  and	
  quadratic,	
  F(1,	
  212.51)	
  =	
  9.41,	
  p	
  <	
  .01,	
  trends	
  both	
  
significantly	
  described	
  the	
  pattern	
  of	
  the	
  data	
  over	
  time;	
  however,	
  the	
  cubic	
  trend,	
  F(1,	
  
214.39)	
  =	
  3.19,	
  p	
  >	
  .05,	
  does	
  not.	
  These	
  results	
  are	
  basically	
  the	
  same	
  as	
  in	
  the	
  chapter.	
  Gender	
  
itself	
  is	
  also	
  not	
  significant	
  in	
  this	
  table,	
  F(1,	
  113.02)	
  =	
  0.11,	
  p	
  >	
  .05.	
  

Output	
  11	
  also	
  tells	
  us	
  about	
  the	
  random	
  parameters	
  in	
  the	
  model.	
  First	
  of	
  all,	
  the	
  variance	
  
of	
  the	
  random	
  intercepts	
  was	
  Var(u0j)	
  =	
  3.90.	
  This	
  suggests	
  that	
  we	
  were	
  correct	
  to	
  assume	
  
that	
  life	
  satisfaction	
  at	
  baseline	
  varied	
  significantly	
  across	
  people.	
  Also,	
  the	
  variance	
  of	
  the	
  
people’s	
  slopes	
  varied	
  significantly	
  Var(u1j)	
  =	
  0.24.	
  This	
  suggests	
  also	
  that	
  the	
  change	
  in	
  life	
  
satisfaction	
  over	
  time	
  varied	
  significantly	
  across	
  people	
  too.	
  Finally,	
  the	
  covariance	
  between	
  
the	
  slopes	
  and	
  intercepts	
  (−0.39)	
  suggests	
  that	
  as	
  intercepts	
  increased,	
  the	
  slope	
  decreased.	
  

These	
  results	
  confirm	
  what	
  we	
  already	
  know	
  from	
  the	
  chapter.	
  The	
  trend	
  in	
  the	
  data	
  is	
  best	
  
described	
  by	
  a	
  second-­‐order	
  polynomial,	
  or	
  a	
  quadratic	
  trend.	
  This	
  reflects	
  the	
  initial	
  increase	
  
in	
  life	
  satisfaction	
  6	
  months	
  after	
  finding	
  a	
  new	
  partner	
  but	
  a	
  subsequent	
  reduction	
  in	
  life	
  
satisfaction	
  at	
  12	
  and	
  18	
  months	
  after	
  the	
  start	
  of	
  the	
  relationship.	
  The	
  parameter	
  estimates	
  
tell	
  us	
  much	
  the	
  same	
  thing.	
  As	
  such,	
  our	
  conclusions	
  have	
  been	
  unaffected	
  by	
  including	
  
gender.	
  

	
  

Output	
  7	
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Output	
  8	
  

	
  

	
  

Output	
  9	
  

	
  

Output	
  10	
  

	
  

Output	
  11	
  

 Task 3 

Hill,	
  Abraham,	
  and	
  Wright,	
  (2007)	
  examined	
  whether	
  providing	
  children	
  with	
  a	
  leaflet	
  
based	
  on	
  the	
  ‘theory	
  of	
  planned	
  behaviour’	
  increased	
  their	
  exercise.	
  There	
  were	
  four	
  
different	
  interventions	
  (Intervention):	
  a	
  control	
  group,	
  a	
  leaflet,	
  a	
  leaflet	
  and	
  quiz,	
  and	
  a	
  
leaflet	
  and	
  plan.	
  A	
  total	
  of	
  503	
  children	
  from	
  22	
  different	
  classrooms	
  were	
  sampled	
  
(Classroom).	
  The	
  22	
  classrooms	
  were	
  randomly	
  assigned	
  to	
  the	
  four	
  different	
  conditions.	
  
Children	
  were	
  asked	
  ‘On	
  average	
  over	
  the	
  last	
  three	
  weeks,	
  I	
  have	
  exercised	
  energetically	
  
for	
  at	
  least	
  30	
  minutes	
  ______	
  times	
  per	
  week’	
  after	
  the	
  intervention	
  (Post_Exercise).	
  
Run	
  a	
  multilevel	
  model	
  analysis	
  on	
  these	
  data	
  (Hill	
  et	
  al.	
  (2007).sav)	
  to	
  see	
  whether	
  the	
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intervention	
  affected	
  the	
  children’s	
  exercise	
  levels	
  (the	
  hierarchy	
  is	
  children	
  within	
  
classrooms	
  within	
  interventions).	
  

	
  

A	
  graph	
  of	
  the	
  data	
  is	
  shown	
  in	
  Figure	
  8;	
  the	
  big	
  dots	
  are	
  means	
  for	
  the	
  schools,	
  and	
  the	
  
boxplots	
  are	
  standard	
  boxplots,	
  which	
  is	
  to	
  say	
  that	
  they	
  ignore	
  the	
  hierarchical	
  structure	
  of	
  
the	
  data.	
  The	
  data	
  file	
  is	
  shown	
  in	
  Figure	
  9.	
  

	
  

Figure	
  8	
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Figure	
  9	
  

The	
  analysis	
  is	
  done	
  with	
  the	
  mixed	
  models	
  procedure	
  by	
  selecting	
  
.	
  At	
  the	
  first	
  screen	
  (Figure	
  10)	
  you	
  enter	
  your	
  level	
  2	
  variable	
  

in	
  the	
  Subjects	
  box	
  (Classroom).	
  Remember:	
  this	
  procedure	
  assumes	
  that	
  you	
  are	
  doing	
  
repeated-­‐measures	
  analysis	
  of	
  individuals.	
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Figure	
  10	
  

After	
  clicking	
  on	
   	
  you	
  enter	
  the	
  outcome	
  variable	
  (Exercise)	
  and	
  the	
  predictor	
  
(Intervention).	
  	
  

	
  

Figure	
  11	
  

You	
  then	
  have	
  six	
  buttons	
  to	
  enter	
  the	
  details	
  of	
  the	
  analyses.	
  Here	
  we	
  consider	
  only	
  
	
  and	
   .	
  The	
   	
  screen	
  (Figure	
  12)	
  allows	
  you	
  to	
  enter	
  the	
  fixed	
  part	
  of	
  the	
  

model.	
  This	
  is	
  the	
  condition	
  the	
  participant	
  is	
  in.	
  Select	
  the	
  variable	
  that	
  specifies	
  conditions	
  
(Intervention)	
  and	
  click	
  on	
   .	
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Figure	
  12	
  

The	
   	
  screen	
  (Figure	
  13)	
  is	
  where	
  you	
  can	
  really	
  take	
  advantage	
  of	
  the	
  procedure’s	
  
flexibility.	
  The	
  model	
  looked	
  at	
  here	
  is	
  one	
  of	
  the	
  simpler	
  multilevel	
  models.	
  Highlight	
  
Classroom	
  in	
  the	
  Subjects	
  box	
  and	
  put	
  it	
  into	
  the	
  Combinations	
  box	
  by	
  clicking	
  on	
   .	
  This	
  tells	
  
the	
  computer	
  that	
  this	
  is	
  the	
  cluster	
  variable.	
  By	
  not	
  entering	
  any	
  variables	
  into	
  the	
  Model	
  box	
  
the	
  computer	
  assumes	
  that	
  you	
  just	
  want	
  a	
  random	
  intercept.	
  The	
  default	
  choice	
  of	
  

	
  should	
  be	
  used	
  for	
  this	
  example.	
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Figure	
  13	
  

Now	
  click	
  on	
   	
  and	
  select	
  Tests	
  for	
  covariance	
  parameters	
  (Figure	
  14).	
  Click	
  on	
   	
  
then	
   .	
  

	
  

Figure	
  14	
  

	
  

	
  

	
  



DISCOVERING	
  STATISTICS	
  USING	
  SPSS	
  

PROFESSOR	
  ANDY	
  P	
  FIELD	
   	
   16	
  

 

Output	
  1	
  

 

	
  

Output	
  2	
  

 

	
  

Output	
  3	
  

The	
  first	
  part	
  of	
  the	
  output	
  tells	
  you	
  details	
  about	
  the	
  model	
  that	
  are	
  being	
  entered	
  into	
  the	
  
SPSS	
  machinery.	
  The	
  Information	
  Criteria	
  box	
  gives	
  some	
  of	
  the	
  popular	
  methods	
  for	
  assessing	
  
the	
  fit	
  models.	
  AIC	
  and	
  BIC	
  are	
  two	
  of	
  the	
  most	
  popular.	
  The	
  Fixed	
  Effects	
  box	
  gives	
  the	
  
information	
  in	
  which	
  most	
  of	
  you	
  will	
  be	
  most	
  interested.	
  It	
  says	
  the	
  effect	
  of	
  intervention	
  is	
  
non-­‐significant,	
  F(3,18.061)	
  =	
  1.704,	
  p	
  =	
  .202.	
  A	
  few	
  words	
  of	
  warning:	
  calculating	
  a	
  p-­‐value	
  
requires	
  assuming	
  that	
  the	
  null	
  hypothesis	
  is	
  true.	
  In	
  most	
  of	
  the	
  statistical	
  procedures	
  covered	
  
in	
  this	
  book	
  you	
  would	
  construct	
  a	
  probability	
  distribution	
  based	
  on	
  this	
  null	
  hypothesis,	
  and	
  
often	
  it	
  is	
  fairly	
  simple,	
  like	
  the	
  z-­‐	
  or	
  t-­‐distributions.	
  For	
  multilevel	
  models	
  the	
  probability	
  
distribution	
  of	
  the	
  null	
  is	
  often	
  not	
  known.	
  Most	
  packages	
  that	
  estimate	
  p-­‐values	
  for	
  multilevel	
  
models	
  estimate	
  this	
  probability	
  in	
  complex	
  way.	
  This	
  is	
  why	
  the	
  denominator	
  degrees	
  of	
  
freedom	
  are	
  not	
  whole	
  numbers.	
  For	
  more	
  complex	
  models	
  there	
  is	
  concern	
  about	
  the	
  
accuracy	
  of	
  some	
  of	
  these	
  approximations.	
  Many	
  methodologists	
  urge	
  caution	
  in	
  rejecting	
  
hypotheses	
  even	
  when	
  the	
  observed	
  p-­‐value	
  is	
  less	
  than	
  .05.	
  



DISCOVERING	
  STATISTICS	
  USING	
  SPSS	
  

PROFESSOR	
  ANDY	
  P	
  FIELD	
   	
   17	
  

	
  

Output	
  4	
  

The	
  random	
  effects	
  (Output	
  15)	
  show	
  how	
  much	
  of	
  the	
  variability	
  in	
  responses	
  is	
  associated	
  
with	
  which	
  class	
  a	
  person	
  is	
  in:	
  0.023777/(0.023777	
  +	
  0.290766)	
  =	
  7.56%.	
  This	
  is	
  fairly	
  small.	
  A	
  
rough	
  guide	
  to	
  whether	
  this	
  is	
  greater	
  than	
  chance	
  is	
  obtained	
  by	
  dividing	
  this	
  value	
  by	
  its	
  
standard	
  error	
  to	
  get	
  the	
  Wald	
  z	
  and	
  seeing	
  if	
  it	
  is	
  greater	
  than	
  1.96.	
  It	
  is	
  slightly	
  less	
  (1.955).	
  
The	
  significance	
  of	
  the	
  Wald	
  statistic	
  confirms	
  this:	
  it	
  just	
  fails	
  to	
  reach	
  the	
  traditional	
  level	
  for	
  
statistical	
  significance.	
  

The	
  result	
  from	
  these	
  data	
  could	
  be	
  that	
  the	
  condition	
  failed	
  to	
  affect	
  exercise.	
  However,	
  
there	
  is	
  a	
  lot	
  of	
  individual	
  variability	
  in	
  the	
  amount	
  of	
  exercise	
  people	
  get.	
  A	
  better	
  approach	
  
would	
  be	
  to	
  take	
  into	
  account	
  the	
  amount	
  of	
  self-­‐reported	
  exercise	
  prior	
  to	
  the	
  study	
  as	
  a	
  
covariate.	
  

Task 4 

Repeat	
  the	
  analysis	
  in	
  Task	
  3	
  but	
  include	
  the	
  pre-­‐intervention	
  exercise	
  scores	
  
(Pre_Exercise)	
  as	
  a	
  covariate.	
  What	
  difference	
  does	
  this	
  make	
  to	
  the	
  results?	
  	
  

	
  

In	
  the	
  previous	
  task,	
  we	
  found	
  that	
  there	
  is	
  no	
  significant	
  effect	
  of	
  the	
  intervention	
  on	
  
exercises	
  levels,	
  but	
  we	
  did	
  not	
  take	
  into	
  account	
  the	
  amount	
  of	
  exercise	
  participants	
  engaged	
  
in	
  before	
  the	
  intervention.	
  The	
  analysis	
  is	
  done	
  with	
  the	
  mixed	
  models	
  procedure	
  by	
  selecting	
  

.	
  At	
  the	
  first	
  screen	
  (Figure	
  15)	
  you	
  enter	
  your	
  level	
  2	
  
variable	
  in	
  the	
  subject	
  box	
  (Classroom).	
  Remember:	
  this	
  procedure	
  assumes	
  that	
  you	
  are	
  doing	
  
repeated-­‐measures	
  analysis	
  of	
  individuals.	
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Figure	
  15	
  

After	
  clicking	
  on	
   	
  enter	
  the	
  outcome	
  variable	
  (Post_Exercise)	
  into	
  the	
  Dependent	
  
Variable	
  box,	
  and	
  the	
  variables	
  (Intervention)	
  and	
  (Pre_Exercise)	
  into	
  the	
  Covariate(s)	
  box	
  (as	
  
in	
  Figure	
  ).	
  	
  

	
  

Figure	
  16	
  

The	
   	
  screen	
  (Figure	
  17)	
  allows	
  you	
  to	
  enter	
  the	
  fixed	
  part	
  of	
  the	
  model.	
  This	
  is	
  the	
  
condition	
  the	
  participant	
  is	
  in.	
  Select	
  the	
  variables	
  that	
  specify	
  conditions	
  (Pre_Exercise	
  and	
  
Intervention)	
  and	
  click	
  on	
   .	
  



DISCOVERING	
  STATISTICS	
  USING	
  SPSS	
  

PROFESSOR	
  ANDY	
  P	
  FIELD	
   	
   19	
  

	
  

Figure	
  17	
  

The	
   	
  screen	
  (Figure	
  18)	
  is	
  where	
  you	
  can	
  really	
  take	
  advantage	
  of	
  the	
  procedure’s	
  
flexibility.	
  The	
  model	
  looked	
  at	
  here	
  is	
  one	
  of	
  the	
  simpler	
  multilevel	
  models.	
  Highlight	
  
Classroom	
  in	
  the	
  Subjects	
  box	
  and	
  put	
  it	
  into	
  the	
  Combinations	
  box	
  by	
  clicking	
  on	
   .	
  This	
  tells	
  
the	
  computer	
  that	
  this	
  is	
  the	
  cluster	
  variable.	
  By	
  not	
  entering	
  any	
  variables	
  into	
  the	
  Model	
  box	
  
the	
  computer	
  assumes	
  that	
  you	
  just	
  want	
  a	
  random	
  intercept.	
  The	
  default	
  choice	
  of	
  

	
  should	
  be	
  used	
  for	
  this	
  example.	
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Figure	
  18	
  

Now	
  click	
  on	
   	
  and	
  select	
  Tests	
  for	
  covariance	
  parameters	
  (Figure	
  19).	
  Click	
  on	
   	
  
then	
   .	
  

	
  

Figure	
  19	
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Output	
  16	
  

 

Output	
  17	
  

 

	
  

Output	
  18	
  

The	
  first	
  part	
  of	
  the	
  output	
  tells	
  you	
  details	
  about	
  the	
  model	
  that	
  is	
  being	
  entered	
  into	
  the	
  
SPSS	
  machinery.	
  The	
  Information	
  Criteria	
  box	
  gives	
  some	
  of	
  the	
  popular	
  methods	
  for	
  assessing	
  
the	
  fit	
  models.	
  AIC	
  and	
  BIC	
  are	
  two	
  of	
  the	
  most	
  popular.	
  The	
  Fixed	
  Effects	
  box	
  gives	
  the	
  
information	
  in	
  which	
  most	
  of	
  you	
  will	
  be	
  most	
  interested.	
  It	
  says	
  the	
  effect	
  of	
  pre-­‐intervention	
  
exercise	
  level	
  is	
  a	
  significant	
  predictor	
  of	
  post-­‐intervention	
  exercise	
  level,	
  F(1,	
  483.504)	
  =	
  
719.775,	
  p	
  <	
  .001,	
  and,	
  most	
  interestingly,	
  the	
  effect	
  of	
  intervention	
  is	
  now	
  significant,	
  F(1,	
  
21.016)	
  =	
  15.204,	
  p	
  =	
  .001.	
  These	
  results	
  show	
  that	
  when	
  we	
  take	
  into	
  account	
  the	
  amount	
  of	
  
self-­‐reported	
  exercise	
  prior	
  to	
  the	
  study	
  as	
  a	
  covariate,	
  type	
  of	
  intervention	
  becomes	
  a	
  
significant	
  predictor	
  of	
  post-­‐intervention	
  exercise	
  levels.	
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Output	
  19	
  

The	
  random	
  effects	
  (Output	
  19)	
  show	
  how	
  much	
  of	
  the	
  variability	
  in	
  responses	
  is	
  associated	
  
with	
  which	
  class	
  a	
  person	
  is	
  in:	
  0.003946/(0.003946	
  +	
  0.122328)	
  =	
  3.12%.	
  This	
  is	
  pretty	
  small.	
  A	
  
rough	
  guide	
  to	
  whether	
  this	
  is	
  greater	
  than	
  chance	
  is	
  obtained	
  by	
  dividing	
  this	
  value	
  by	
  its	
  
standard	
  error	
  to	
  get	
  the	
  Wald	
  z	
  and	
  seeing	
  if	
  it	
  is	
  greater	
  than	
  1.96.	
  The	
  current	
  statistic	
  is	
  less	
  
than	
  1.96	
  (it	
  is	
  1.352)	
  and	
  the	
  significance	
  of	
  the	
  Wald	
  statistic	
  confirms	
  this,	
  p	
  =	
  .176.	
  

	
  

	
  

	
  

	
  


